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sin(—x)=—sinx tan x = €sCx =— secx = cotx =
cos X sin x cosx tan x
cos(—x) = cosx sin” x+cos” =1 sin 2x = 2sin xcos x
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a) tan x + cot X = seCcXCsc X
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2. Simplify each of the following expressions:
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3. Suppose 0<x<90° and 2sin” x +cos” x = —. What is the value of sinx?
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4. Evaluate the following: sin
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6. Suppose that, for some angles “x” and “y” sin® x + cos’ y= ? and cos® x +sin’ y=
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7. What is the sum of all values of all values of “x”

tanx+1=sec’ x? i
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between 0 and 27 inclusive that satisfy the equation:

8. If cos(x) == and “x” is in the first quadrant, what is the value of sin (Zx) ?
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the equation sin® x +sin® y =sinx +sin y ?
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10. In degrees, what are all ordered pairs of angles (x,y) for which both angles are between 0 and 90° and satisfy

‘K\"\
(O\O; O)\

((2159)
Cors)
(82

;o

o~ SwAX =2\
11. In degrees, what are all values of ‘x” between 0 and 360° for which sinx >+/1—sin” x ?
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12. What are the degree measures of all positive angles between 0 and 90° \which satisfy the equation:

sin’ x +cos” x + tan” x + cot’ x +sec” x +csc’ x = 31
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13. Acircle centered at “O” has radius 1 and contains the point A. Segment AB is tangent to the circle at “A” and

ZAOB =86. If point “C” lies on 0OA and BC bisects ZABO, then what is the length of OC?
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14. If cos @ =2tan @, solve for the numerical value of cos’ 6.
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15. Simplify: cos (£ + x)cos(£—x)—sin (£ +x)sin(£-x)
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16. If sinx = —? and “x” is in quadrant 3, then what is the value of sin 2x ?

17. What is the value of sin(a + b) if sina = _?3 and cosh = %, with both “a” and “b” in the fourth quadrant.
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